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HEES ¥ ERFIAEE (-kPa) B 7 E (NL/min)
= HS[E 2
MNO5~30 me RUER EAR 10 20 30 40 50 60 70 80 90  BAHZE-kPa
= H = = . . EEER[@mm] MNHO05 18 30 15.5 10 9 9 6.5 55 3 1.5 0.5
S #“SEH(bar) RAHTE(-kPa) RAHTRE(NL/min)  #SE(NL/min) o ~To . . . . )
MNH10 45 20 52 31 20 18 17 13 11 7 25 15
MNO5 45-6 85 36~38 12-18 6 8 R 9
MNH20 79 100 62 38 32 30 2 14 12 8 3
MN10 456 85 70~74 2441 6 10
MNH30 5 125 180 74 60 52 46 38 26 19 8 6
MN20 456 85 140~148 54~85 8 1
MNHO5 21 2 18 9 8 7 6 5 3 12 0.45
MN30 5+6 85 175~220 86~125 8 1 -
MNH10 40 62 36 18 16 14 11 9 6 24 0.9
6 92
- . MNH20 88 124 72 35 2 27 2 18 12 4.8 18
EFREAEZE(-kPa)MEZHRE(NL/min) I
MNH30 137 185 108 52 47 41 33 26 18 72 27
= HEFEH HSE — L
Be bar Ni/min © 10 20 30 40 50 60 70 80 90 BAHZTE-kPa
MNO5 12 36 17.5 13 11 10 8 5 2.5 0.8 - E*ﬁﬁﬁlﬁ(‘kpa)E"Jﬁl%ﬂql‘ﬂj(NL/S)
MN10 45 24 70 4 27 23 20 16 11 5 13 - - BEEH HSE -
SR g5 ne bar NL/min © 10 20 30 40 50 60 70 80 90 BAHTE-kPa
54 140 72 50 44 38 32 20 11 3 -
MN20 MNHO5 18 - 0.13 0.6 1.26 2.3 3a 45 6.15 8.5 15.5
MN30 5 86 175 106 ) 7 58 44 32 16 5 -
MNH10 45 20 - 0.11 0.3 0.65 11 1.55 215 2.85 47 10.2
MNO5 18 38 26 16 14 10 8 6 24 0.66 - 92
MNH20 79 - 0.09 0.16 0.32 0.55 0.8 15 1.8 2.7 5
MN10 41 74 52 31 28 20 16 12 48 132 -
6 85 MNH30 5 125 - 0.06 0.12 0.23 0.36 0.53 0.76 11 16 29
MN20 8 148 » 62 4 40 32 2 105 27 B MNHO5 21 - 0.26 0.8 116 2.4 3.56 49 6.9 10.16 19.2
MN30 125 220 147 92 73 60 47 32 16 4.1 -
MNH10 40 - 0.13 0.4 0.76 12 178 245 3.44 5.08 9.6
6 92
) MNH20 88 - 0.06 0.2 0.38 0.6 0.89 1.23 172 2.54 48
EXRFETE (-kPa) B9 <A (NL/S) e
ENEIE MNH30 137 - 0.05 0.15 0.28 0.44 0.67 0.92 13 19 3.6
y= HSE = L
Be bar NL/min © 10 20 30 40 50 60 70 80 90 BAHZTE-kPa
MNO5 12 - 0.11 0.42 0.95 1.66 25 3.65 5.25 7.89 - Mg Rt ( mm )
MN10 45 24 - 0.08 0.2 0.44 0.8 1.24 1.8 2.55 3.8 -
— 85 MN/MNH-A
MN20 54 - 0.04 0.12 0.23 0.41 0.65 0.93 133 2.03 -
MN30 5 86 - 0.03 0.09 0.16 0.27 0.43 0.66 0.95 143 - #20
MNO5 18 - 0.22 0.55 1 1.58 2.35 3.44 5.27 1021 - g
IR 2 |
MN10 41 - 0.11 0.28 0.5 0.8 118 172 2.63 5.16 - ” & g
- & 85 @]
MN20 85 - 0.05 0.14 0.25 0.4 0.59 0.86 131 2.58 - N
- Q6RE
MN30 125 - 0.04 0.01 0.186 0.44 0.44 0.65 0.9 19 - o
72.5
MNHO05~30 2 BDT
BEER[@mm] — 0
ne #SEH(bar) BAHZE(-kPa) BRAEZRE(NL/min) #S2(NL/min)
#s0 HEO
MNHO05 456 92 30~32 18-21 6 8
1= m 9 9 m A= 40 23 740 =
" i . o o : . ns | M | EERME | EEEDE | #SO0E | 2Snms | B8
MNH20 45-6 ) 100~124 79-88 8 12 MN 05 PA66 A 26 G1/8 36
35.5
MNH30 5-6 ) 180~185 125~137 8 12 MNH 10 PAG6 @06

34 35



MNZR !
HRIMBEETRER
MR (mm)
MN/MNH-B 5
\e\).)u)
4 5o X\\ | HSO
/I — —ra [g 8
L SRS ¢ —
H=063/8 205 | —2
245
64
- S
\ea ©20 #SM0G1/8 ms T —T—
&) \ \ \
) —Ll_d 1
- /1 © 7
) = O F‘(‘
A R n
24 12,5
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BM 05 PA66 B G1/8 G3/8 20.7 39.5
BX 10 PAG6 20.7 39
20 PA6G6 28 50
30 PA6G6 35 63
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RS | HIAg | EERMR | EERIE | #KSOME | Ex0OME | L1 | L2 | EE(g)
MN 05 PA66 C G1/8 G3/8 20.7 | 87 |55
MNH| 10 PA66 20.7 | 87 |54.5
20 PA66 28 [94.2 |67
30 PAGG 35 [101.5|81

36



	页 1
	页 2

